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I.  Shri Kantilal keeps his accounts on the basis of integrated accounting system. Pass

Journal Entries of the following transactions and find out balances by preparing

necessary accounts, 14
Transactions 4
Purchase of raw material 22,000
Material issued to production 12,000
Wages paid (80% Direct wages) 14.000
Wages charged to production 11,000
Production expenses 9,000
Production expenses absorbed 9,200
Selling and distribution overheads 2,800
Finished goods (at cost) 25.000
Sales 38,000
Amount received from debtors 28,000
Paid to creditors 16,000
OR

ZT-102 8



Shri Shankarlal keeps his accounts on the basis of non integrated accounting system.

From the following information pass journal entries and prepare (1) Work in progress
account (2) Finished goods account (3) Cost of sales account and (4) Costing profit &

loss account.

Transactions <
Purchase of raw matenal 22,000
Matenal issued to production 21,000
Direct wages 14.000
Indirect wages for production 11,000
Production expenses 9,000
Administration overheads 3,500
Selling and distribution overheads 2,800
Opening balance of finished goods 15,000
Closing balance of finished goods 12,000
Sales 58.000
Opening balance of W.LP. 15,000
Closing balance of W.LP. 17,000

14

(A) Bahechardas is a wholesale trader. He purchases 4500 units at a price of T 40 per
unit every year. The ordering cost is ¥ 100 and carrying cost is 25% . Find out
Economic Order Quantity and find out total minimum cost including purchase
price. If supplier offers 3% discount on purchase of 1500 units or more, should the

offer be accepted ?

OR

7

(A) Ramesh engineering ltd. produces some components of car. The company may
receive order for making 100 components at ¥ 2,00,000. At present company has
made 50 components at following cost :

Direct material

Direct wages (10,000 hrs. at ¥ 4 per hr.)

Expenses for Tools which can be reused

Variable expenses T (.75 per labour hour

Fixed expenses

% 25,000
< 40,000
< 12,000
T 7,500

< 20,000.

-

Company believes that 80% learning curve can be applied. This additional order 1s
important for the company as it has less work than the capacity. State whether this
new order should be accepted or not with your calculations and give your

assumptions clearly.

ZT-102
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(B)

(C)

3. (A)

ZT-102

Answer any one of the following :

(1) State the areas of cost reduction and explain any two areas of cost reduction

in detail.

(2)  On 1/4/2013 there were 2,680 workers in Shivhari Ltd. During the month 180
workers left the company while 360 workers were recruited. Find out labour
turn over rate as per separation method and also find out equivalent turn-over

rate. Explain how will you reduce labour turn-over rate.

Answer any one of the following :
(1) Explain briefly VED analvsis.

(2) Explain meaning of Productivity with reference to Labour Productivity.

Shri Vallabhbhai Co. Ltd. manufacturers two products “SUR™ and “DAR".

Both the products are manufactured by using same machine and same process.
From the following information prepare statement of total cost and per unit cost as
per Traditional Costing and Activity Based Costing methods :

Particulars SUR DAR
Production units 20,000 4,000
Machine hours — per unit 2 3
Direct labour hrs. — per unit 5 5
No. of purchase orders 200 100
No. of set-up 250) 50
Material cost per unit ¥ 20 20
Labour per unit T 10 10

The cost of different activities is as under :
Related to volume < 1,80,000
Related to purchase ¥ 3,00,000
Related to set-up © 7.20,000

Owerheads are based on direct labour hours.

OR

10



(A) From the following information calculate overheads to be absorbed by product by

using suitable cost drivers as per activity based costing method. )
i Product Product
A B
Production units 1000 200
Machine hours — per unit 3 3
Direct labour hours — per unit 3 =
Orders handled in the period 20 10
Set up period 25 5
Overheads are as under :
T
For production set-up 80,000
For machine activities 1.00,000
For handling of orders 1,20,000
(B) Answer any one of the following : 4

(1) State the characteristics of Activity Based Costing Method.

(2) Give the difference between Conventional Costing System and Activity

Based Costing Method.

(C) * Answer any one of the following : 3
(1) “Briefly explain the concept of Cost Drivers.

(2) The total cost of setting up a machine is ¥ 10 lakhs. And during the period

there are 5,000 settings, then find out activity cost driver rate.

ZT-102 11 P.T.O.



4. M.B. Patel Manufacturing Co. is likely to receive order to manufacture 2,000 Benches
from Mahemdabad college. They have full capacity to make these benches. For this fix
investment of ¥ 5,00,000 and working capital at 30% of sales value will be required. The

estimate of cost for this order will be as under : 14
Raw material : 20,000 kgs. at ¥ 10 per kg.

Direct labour : 1,500 hrs at ¥ 20 per hr.

Variable factory overheads ¥ 12 per labour hr.

Variable selling and distributing overheads ¥ 2,000

Fixed factory overheads < 12,000

Fixed selling and distributing overheads ¥ 22,000

Prepare statement showing the price to be fixed for the bench under the following

situations.

(a) Total cost method where 253% profit on sales price will be realised.

(b) Conversion cost method where 200% profit of conversion cost will be
realised.

(c) Marginal cost method where profit volume ratio 1s 25%.

OR

In a factory 800 units per month are manufactured. During the year actual cost is as
under : 14

Raw material : < 1,92,000

Direct labour : ¥ 96,000

Variable overheads : T 1,44,000

Fixed overheads : ¥ 1,50,000

During the new year selling price is to be quoted for the supply of additional 2,400 unit
by manufacturing 200 additional units per month. Company intends to realize 10% profit
on selling price. For additional raw matenal 10% discount 1s available and for labour

10% additional amount will be paid. Variable overheads will be increase by 50% while
fixed overheads will increase by I 12,000.

Prepare estimated cost statement for new order.

LT-102 12



3. Select the correct answer from the alternatives given for each question. Give reasons or

calculations where necessary (any seven) : 14

(1)

(2)

(3)

(4)

(3)

LT-102

In case of under absorption of overheads

(a) costing profit is under-stated.

(b} financial profit is over stated.

(c) costing profit is over stated

(d) There is no impact on costing profit.

Which of the following accounts make the cost ledger self balancing ?
(a) Costing profit and loss account

(b) Overhead adjustment account

(c) Cost ledger control account

(d) None of these

Which of the following techniques is not meant for labour cost control ?
(a) Budgetary Control

(b) Standard Costing

(c) ABC Classification

(d) Ratio Analysis

In a company, annual consumption of material 1s 4,000 units and price per unit is
T 15. Ordering cost is T 32 and carrying cost is ¥ | and rate of interest is 10%.
Determine E.0O.Q).

(a) .. 320 units (b) 160 units
(¢) 450 units (d) 280 units
A cost driver is

(a) .an activity which generates cost.

(b) an item of production overhead.

(c) any cost relating to transport.

(d) None of these.

13 P.T.O.



(6) Which of the following does not influence the use of activity based costing ?
(a) High proportion of overheads
(b) Monopoly situation
(c) Product diversification
(d) Volume diversity

(7)  Which cost is not included in conversion cost pricing ?

(a) Direct labour \
(b) Indirect labour
(c) Production overheads

(d) Administration overheads

What will be
pricing ?

(8) The sales of a company is ¥ 5,00,000 and gross profit is ¥ 77,
gross margin rate for price determination on the basis of

(a) 15% (by 14.5%
(c) 15.5% (d)

N4

. 4

>
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Bi5 Ul vl [Qeiol s dadedl 2is4 2ls uHe A4 widz T 100 -8l
531 9. wls HIR ERHUA 20,000 sl Goued Y, AT WM UddR
T 2300000 28 Yiq dwAsB admid uRRalt suqdl ddi e sl b
Aed(4s T AHIrt wsdr sy els T 125 aldl D2 20l [3aa all.

(a) ¥ 2,50,000 (b) % 5.00,000
(¢) ¥ 3.00,000 (d)  Guz-uMidl @iy Ale
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The following details of cost structure regarding production operations of ‘Star’

Manufacturing at normal capacity of 3,50,000 units of a product per year have been
made available ;

T per Unit
Direct Materials 0.30
Direct labour 0.20
Variable overheads (factory) 0.15
Fixed factory overheads 0.15
Total 0.80

Inventory of finished goods at the beginning of the year consists of 35,000 units. Fixed
selling and administration expenses for the year amounted to < 35,000. Sales price per
unitis < 1.
You are required to compute the annual income statement for the year according to
absorption costing and variable costing
(a) when production of first year 1s 3,85,000 umts and sales 1s 3,50.000 units.
(b) when production of second year is 3.15,000 units and sales is 3,50,000 units.

OR
(a) Explain the advantages and limitations of Variable Costing.
(b)  Explain the difference between Marginal Costing and Absorption Costing.

(A) The cost structure of a *J" product manufactured by Janak Company Ltd. is given

below :
L4
Direct material 25.20
Direct labour 6.75
Variable factory overheads __1.80
Total 33775

The fixed factory overheads are budgeted at T 18,00,000 where as the

administrative overheads are budgeted at ¥ 7,20,000. The fixed assets are valued

at T 20,55,000. The rate of recovery of fixed factory overheads is determined at ¥

45. The fictitious assets amounting to ¥ 30,000 have been included in the value

of fixed assets. The value of current assets is equal to 50% of sales. Determine

the selling price for the product so as to yield 20% profit on capital employed.
OR

[Max. Marks : 70
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(A) Super Ltd. has received an order for the supply of 1,000 units of “super chair’.
For this order, a fixed investment of ¥ 10,00,000 and working capital to the
extent of 20% of sales value will be required, while estimated costs are as under

Raw material : 11,000 kgs at ¥ 40 per kg.
Direct wages — 2,500 hours at T & per hour.
Varnable overheads :
Factory ¥ 16 per labour hour.
Selling and distribution - ¥ 30,000
Fixed overheads :
Factory ¥ 25,000
Selling and distribution - ¥ 45,000

Prepare the statements showing the price of ‘Super Chair” to be fixed under the

following situations :
(1}  When the profit is 20% on sales price.
(2) To earn a profit at 15% on sales price when the trade discount is 30%.

(3) To sale at a 50% profit on value added amount.

(B) Answer any two questions :
(1) Explain circumstances, when sales can be made below variable cost.

(2) Explain factors affecting in pricing in brief.
(3) Explain special order and pricing in brief.

(C) Answer any three questions in brief :

(1} Can order received from foreign market be accepted for less price than its

total cost 7 Gave the reasons.
(2)  Which the two types of pricing poligies are tried for a new product ?
(3) Explain Target base Pricing.

(4) Give only names of Cost Plus Pricing Methods.

3.  Asha Company Litd. has followed standard costing system for its production. You are
provided budgeted and actual information pertaining to its product ‘Golden’. You are

asked to calculate necessary variances and also prepare reconciliation statement.
. Budgeted | Actual
Particulars 7 3
Sales Value : at % 20 per unit 8,00,000
at ¥ 21 per unit 7,35,000
Material costs  at< 2 per kg and 4 kgs per unit. 3,20,000
at ¥ 2.25 per kg and 4 kgs per unit 3,15,000
Labour ¢ost : at ¥ 0.50 per hour and 5 hours per unit 1,00,000
at ¥ (.60 per hour and 4.50 hours per unit 94,500
Variable
overheads : at ¥ 0.80 per hour and 5 hours per unit 160,000
at ¥ 1 per hour and 4.50 hours per unit 1,57,500
Fixed overheads : at ¥ 1 per unit 40,000
at ¥ 1.20 per unit 42,000
Total Cost 6,20,000 | 6,09,000

From the above information prepare necessary accounts under single plan method

along with required variances.

ZT-101
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4. (A) Modern Manufacturing Limited has received a contract for supplying 72 ‘Fan’.

(B)

(C)

The Company has just completed an initial run of 24 *Fan’ at the following cost :

4
Direct material 16,000
Direct labour (4,800 hours at T 4) 19,200
Tooling cost (reusable) 2,400
Variable overheads (¥ (.50 per labour hour) 2,400
Fixed overheads (¥ 1.00 per labour hour) 4,800

An 80% learning curve is thought to be pertinent in this case. The markéeting
manager believes that the quotation is unlikely to be accepted if it exceeds
< 90,000 and as the company is short of work, it believes that the contact to be
vital. Whether is it accepting worth at < 90,000 ? State your advice.
OR
What is Learning Curve ? Explain utility of Leamning Curve.
Answer any two questions :
(1) Explain advantages to enterprise of Cost Reduction.
(2) Explain any two difference between Cost Control and ‘Cost Reduction.
(3) Explain methods of Cost Control in brief.
Answer any three questions in brief :
(1) Define Cost Control,
(2) Explain areas covered by cost reduction in brief.
(3) Explain standardization as a tool of ¢ost reduction.
(4)  What is meant by 80% learning curve 7

5. Answer any seven questions :

(1)

(2)

(3)

£T-101

An Exporter can selling at a price in home market and selling at
price in foreign market.

(a) lower, higher

(b) higher, lower

(¢) lower, lower

To find out gross profit, is deducted from sales in absorbing costing
method, while to find out cost of sales 1s deducted from sales In
variable costing.

(a) . production contribution, cost of sales
(b)) wariable cost of production, production contribution
(c) costof sales, production contribution

Calculate the direct labour cost of first eight units of a product from the
following data :

(1) Application of learning curve at 90%
(2) Cost of direct labour ¥ 5 per hour for requirement of 100 hours for the first

unit.
(a) < 4,000 (by 2916
(c) T3.600 (d) None of the above

=
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(4)

(3)

(6)

(7)

(8)

£T-101

means to control business expenses by executive action and s
understood as the achievement of real and permanent reduction in the unit cost
of good manufactured or service rendered.

(a) Cost control, cost reduction

(b) Cost reduction, cost control

(c) Labour cost control, overheads control

A manufacturing company decides its price policy on the basis of its standard
costing. It determines its selling price so as earn as pre-tax return of 253% on
investment, determine selling price for its production.

Variable cost per unit ¥ 500.

Fixed cost during the vear ¥ 12,000

Investment T 25,000

Standard Quantity 100 units :

(a) < 682.50 (by X750

(c) Y620 (d}  None of the above

When a new product is introduced into the market, it may be sold at a very
price while the price of the established product in which the company 1s

dealing, is already

(a) low, high

(b) high, set

(c) low, set

In Reconciliation statement to find out standard profit, you have to add or deduct

to budgeted profit.

(a) sales price variance, sales velume variance

(c) favourable variances, unfavourable variances

(c) sales price variance, sales margin volume variance

Planning department of @ company set a standard marginal cost of its product of
T 100 per unit. During a month when 20,000 units were made, its actual
production cost amounted to £ 23,00,000. But the management estimated that a
more realistic standard cost for current conditions should be T 125. Calculate the
planning variance.

(a) < 250,000 (b)y ¥ 5.00,000

(c) < 3.00,000 (d) None of the above



